SLOT Week 6 — Right Triangles | can apply the Pythagorean Theorem EN +h? = nJ...ﬁo solve right triangles.
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2. A ladder height of 29 feet long is
kept on the wall of height 20 feet
as an incline. What may be the
distance between the bottom of
the wall and base of the ladder?
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1. Using the right triangle ABC, |
write the ratio for each of the
following
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2. In a right angle triangle with
two legs of 33 and 44 feet,
what is the length of the
hypotenuse?
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One leg of the right angle
triangle is two times the
other leg of the triangle. If
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1. Determine the value

of x

In the figure above line n is parallel to line m, line
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is perpendicular to line n and line e intersects line

m and n. What is ﬂ:m_n_wmm«m:nmwmﬁimm: the A

hypotenuse AC and CE?
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2. What is the difference between y and x?
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